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FROEME, WEERREFVICET3B/MNeREkEn (least absolute deviations
estimator, LADE) [1, §4.6] 23t H 3 3 -0 QBEOYBRBIC OV TRIT S L TH 3.
LADE ZR® 2 DHEEL UTIt, $UEHERE (inear program, LP) Ic &5 & 04ME
WNTHD, T CIRBEKEE (simplex method) I B—5 ¢ BEMEM XN & LB,
CNETIBRENITEIE, LADE 5% 3 R/MURIER LP o B &z i b, —
RIS LP O7e b DBRE % LADE ORBEAERFA L TRELEZLDTS S [2, 3].
AWM T, LADE ORHORHIGEEZMATSL0E, SBRLTVAEE (E8ik
&, WrtHgRE:, BREKE BHBTIC LT, FhLOBMEELMNCTS.
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TEABREZROZBERHEH, ThIEBIKIEROENITV. LitH->T, 288
BRE L RO G E THTEARERD 5 [4, pp. 141-142]. {iiA, RSB ED
CHEDRDOFHREL LTI, RSBRZ L3I, HEBNAR I SRS R
LZTENTEZDT, ThE2HEVS.

X OHZBERREBCN=(1,...,n) L5, Thbb, [Bl=kTHD, LEDOF
N BV x, (i € B) BAANTHIETH X, ISR THS. HTFTWE, URLSHEL T
MOELEVIRD, BERS B EBET X, OWMAZEELER, FEEN=N\BD
n—k fADFIZINTz kx (n— k) 17750 X, £ T 5. N OEE B LIFEE N ~OHFhcHt
BLT,

}(f:[X}'3 XN], .V'=[y’B -V)N]’ §=[§£]' .w=[::ﬂ

EREIT A,
LP (6) DFFIR X' = X'w L EMER v 1R, TORBICH > TROL S IcBEXHA D
hs. |
X' = Xplp+ Xyl = X'w
Xpln = X'w— Xyl
{p = (Xp) ™ (Xpwa + Xywy — Xily)
= wg + (Xp)™ Xy (wy — Ln), ' (7
Y& =ypln+Yyin -
= Yl we + (X3) " X (wy — ) } + Vielw
= yalwe + () Kyww } + {3/, — Va(Xp) ™ Xy Yeow. ®
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BH%. BOERLEHFULESHEEZOT, | ERFHETATVOIREL NIT, HEE
HMHENZBER, $50i 1 ALBBINEVERSSS. 1507 —FX FS5 v FEA
HRCORMEREEL FiFhon, £1 0825 Th 3.

PEDEX3iE, 1DD7—FA LSy SR TORBER W, Wy, ..., W, BEET D
TET, 7= PRI IBROBELHEDRENCHEL NE LP I3, ThETLERK (6)
ELTHEDENS. FWROGLRY MV X'w L ERERD 2w BT — R X RSy
TEHACKELTELTZ0T, noESESWTRLN-EEEERE, —icEd
BT, T, WNERTLAL, LERST, 7—rA NSy TROELIEDS
EEH, Wi TR A & DTSR RO D HREL S B,

MBootstrap based on residuals FHEILDNWTDT— M X M v 7T, TOEAICE
TOTHRONEBELNSEHIHERT S, TOBREESOTELNHRERY b, B
BERE =y ~xbuw(i=1,...MEF5%. COBEEL,E,...,5 POBRIEULRE
UTHIE N RES n OIEEE (8,8,...,8) T3k, T— bS5y FEAR
(G X b + &), (00 Xybraw + )oKy Xobino + 82, ) THB. FhbB, 7T— A
Zy 7RO EUHEOSEICMNE LPIX, THETLAMC (6) 2 LTHbbENS.
HRBEEANS PV y OBBBEL, HMREERERO_ FRETEOERDEE L HLL
DT, MOBALE IO TRONERERERE, — ORIV, T
H%. LEMoT, 7—FRA b5y 7@YE LHEOREEIC 2 BT R T 2.5
i3z, TRERENERRE UT, IHARCESCEEZBATAC LTS
. M5, BRI ET EETR, BTIRICBAR S E TR ER A RO IR
V. BBV, TOFRCEIOTELNEREREICEDSWT, EEEIROREEPEE
T5TLTRIBERERERSTE RN

PLEDERNS, HEL D BUS 5 it paired bootstrap ZEET 3 XEDEANT &H
SN L& 5 e DT, REIDFE T bootstrap based on residuals D% ZE DT L
T3

% 1: Paired bootstrap Df : ARDAEZ IR 5 DIpE

T—bF A5y TiEE (w1 W, w3, Wy ws)

(2,1,4,2,1) (2,2,0,1,0)
(1,4,3,5,3) (1,0,2,1,1)
3,5,3,2,4) ©,1,2,1, 1)




2 2: BT RBRORER | TR L T EAKICEDS BB
B n k EERE BORUEHR FEEEEg

F 100 5 0.221 153.1 111.7
Fxt 100 5 0.043 18.0 18.0
¥ 200 5 0.476 294.0 208.4
SR o200 5 0.062 22.7 22.7
¥ 500 5 1.528 713.0 499.0
e 500 5 0.163 42.9 42.9
x 100 10 0.301 188.4 148.8
B 100 10 0.085 35.1 35.1
CE 200 10 0.666 361.0 279.2
Wf 200 10 0.140 475 47.5
£ 500 10 2.203 873.1 663.8
At 500 10 0.309 73.4 73.4
E 100 20 0.444 233.8 1934
xf 100 20 0.168 597 59.7
* 200 20 0.991 4541 370.4
i 200 20 0.268 82.0 82.0
* 500 20 3.407 1091.2 875.8

Xt 500 20 0.783 160.7 160.7
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slope® = X \ v; % FBEA7 FMILOOL SHER

e =y ~ X * slopeB; % OL STHE

[s,i] = sort{ abs( e ) );

IdB = i{1:k); 1IdB = IdB{:)’;

slope = X( IdB, : 3} \ y( IdB J;

e =y - X ¥ slope;

IdU = setdiff( find( e > eps ), IdB );

%

f v3, x3, pi3, eflg3, cnt3, np3, IndBas3, IndNonU3 ] ...
= dsimplexbv({ X", RHS, y’, UBZ, IdB, IdU );

%

t21 = cputime;

% _____

r=r+ 1;

LT( r, 1, id_n, id ke )} = tl1l - t18;
NI( r, 1, id_n, id k0 ) = cntl + cnt2;
NP( r, 1, id.n, id k8 ) = npl + np2;
LT( r, 2, id_n, id k0 ) = t21 - t26;
NI(r, 2, idn, id_k8 ) = cnt3;

NP( r, 2, id_n, id k® ) = npl;

%

% —

¥ J—pASwT

slope = pi3(:);

fit = X * slope;

resid = y - fit;

b =9;

while ( b < KB ):
% T—21TH (F—=FA LS5y 7IRF) DR
yb = resid{ unidrnd{ n, n, 1) );

t1bf = cputime;
{ vib, x1b, pilb, eflglb, cntlb, nplb ] ...
= psimplexbv({ X', RHS, yb', UBZ, IndBas3, IndNonU3 };
%
"tlbl = cputime;
%
% ATHEEE (CERMLERECIBES, S)
t2b8 = cputime;
% ~~-- FIHAIROER
slope = X( IndBas3, : ) \ yb( IndBas3 ):
e = yb - X ¥ slope;
IdU = setdiff( find( e > eps ), IndBas3 );
%
{ vZb, x2b, pi2b, eflg2b, cnt2b, np2b ] ...
= dsimplexbv( X', RHS, yb’, UB2, IndBas3, IdU )};
%
t2bl = cputime:
%
% IHME (OL SFREcE 3 {iaEsS)
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¢B = c( IndBas ); <N = ¢{ IndNon ): % partition OB] vector
BA=B\A; bb=B\ b;

pi =cB /B; % simplex multiplier
cost = cN - pi * N; % reduced cost vector

pivot = 1; DictToBeUpdated = 8:

xB = bb;
if ( "isempty( IndNonU ) );

xB = xB - BA( :, IndNonU ) * u( IndNonU ); % basic solution
end

¥N = zeros{ n, 1); =xN{ IndNonU )} = u( IndNonU );
xN = xN({ IndNon }; % non-basic solution
%

‘while ( "ExitFlg ):

% Basis, Matrices, and Vectors
if ( DictToBeUpdated );
B =A(C :, IndBas ); N = A( :, IndV¥on ); % partition LHS matrix

¢B = c( IndBas ); c¢N = ¢( IndNon ); % partition OB) vactor
BA=B\A; bb=EB\ b;

pi = ¢cB / B; % simplex multiplier
cost = cN - pi * N; % cost vector

pivot = pivot + 1;
PictToBeUpdated = 8;

end; .

XB = bh;

if { "isempty( IndNonU ) ):
XB = xB - BA(C :, IndNonU ) * u( IndNonU ); % basic solution

end :

ZN = zeros( n, 1); xN( IndNonU )} = u¢ IndNonU );
xN = xN{ IndNon ): % non-basic solution
% .

% Optimality Checks
cost.ab =cost ¥ ((xN==0)-(CzaN "=8) )"
%% HEREE YOOEERTOEE, EREOEREILFRE M
% Find Hax-Cost Column in Non-Basis
[ MaxCost, JinNon } = max{ cost_ab );
JinaAll = IndNon( JinNon );
%
% Optimality Checks
if ( MaxCost < eps );
ExitFlg = 1;
else;
% Find Min-Ratio Row in Basis
NN = BA{ :, Jinall );
IndPosRow = find( NN > eps );
IndNegRow = find( NN < -eps J;
%
if { ismember( IndNon( JinNon )}, IndNonZ ) )
[ MinRatPos, IinPos ] = min( AB( IndPosRow } ./ NN{ IndPosRow ) );
[ MinRatNeg, IinNeg ]

= min{ ( xB( IndNegRow ) - u{ IndBas( IndNegRow ) ) ) ./ HNN( IndNegRow ) );

ubZ = uf JinAll );

13



x( Ind¥onU } = u({ IndNonU );
val = ¢ * x;
125
varargout = { val, x, pi, ExitFlg, cnt, pivot, IndBas, IndNenU };

A3 TNBEEICE D ARESEO 8O M-function

1 function varargout = dsimplexbv( A, b, ¢, u, IndBas, IndNonU ):
[m, n] =size( & );

5 % Making Index Vectors
IndAll = ¢ 1:n J);
IndNon = setdiff( IndAll, IndBas );
IndNonZ = setdiff( IndNon, IndNonU );
% IndBas = X[

10 % IndNon = JEERE
% IndionU = JFEEDSIELRI—HTIEL0
¥ IndNonZ = JFREDSHSEOOLD

ExitFlg = 8; c¢nt = ®; pivot = §;
15  MaxIter = max( 1668, 180 * m );

% Basis, Matrices, and Vectors
B=A(C:, IndBas ); N = AC :, IndNon ); % partition LHS matrix

cB = ¢( IndBas }; cN = c( IndNon ); X partition OB] vector
200 BA=B\A; bb=2RB\b;
pi = cB / B; ¥ simplex multiplier
cost = cN - pi * N; % reduced cost vector
pivot = 1;
DictToBeUpdated = §;
25
xB = bb;
if ( "isempty( IndNonU ) );
XE = xB - BA( :, IndNonU } * u( IndNonU ); % basic solution
end
30  xN = zeros( n, 1); zN( IndNonB ) = u{ IndionU );
xN = zN( IndNon }; % non-basic solution
cost_ab =cost . * { (xN==0)-(CxN "=8))';
*

% Feasibility Checks
35 if ( any( cost_ab > eps ) );
error( 'Initial Basis is NOT Primal Feasible!’ );:
end;

while ( "ExitFlg );
40 % Basis, Matrices, and Vectors
if ( DictToBeUpdated );
B=A(C:, IndBas ); N = A( :, IndNon }; % partition LHS matrix
‘B = ¢( IndBas }; cN = ¢( IndNon ); % partition OBJ] vector
BA=B\A; bb=B\ b:

15
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end
end
cnt = cnt + 1;
if ( cnt >= MaxIter J;
ExitFlg = -2;
end
end

% Making Solution Vector

X = zeros( n, 1);

x( IndBas ) = xB;

x{ IndNonU ) = u( IndNonU bH
val = ¢ * x;

varargout = { val, x, pi, ExitFlg, cnt, pivot, IndBas,

17

IndNonlU };



